1) BepHo nn, uto yncio n\2 +n+ 41 npocroe npu 11060M HATypasabHOM n? a=57*17=969
n=1
1”2 + 1+ 41=43 - npocroe
n=2
272+ 24+ 41=47 - npocroe
n=3
372+ 3+ 41=53 - npocroe
n=4
61
n=5
71
n=6
83
n=7
107
n=8
113
n=9
131
n=41
41*41+41+41 : 41 =41+ 1+ 1
41*41+41+41=41(41 + 1 + 1)=41*43

HaTypanbHble yncna N = {1;2;3;4;5;6;7;8;9;10;11...}

npoctble yicna P = {2;3;5;7;11...}

uenole uicna Z = {0;+-1;+-2;+-3;+-4;...}

pauunoHanbHble yicna Q = {m/n , rae m - ynucno uenoe, n - HaTypanbHoe}
nppaumoHanbHble Yicna | = {4ncna, HenpeacTasMmble B Buge apobu m/n}

(k+2)(1—[wz+h+j—q°—[(gk+29+k+1)(h+j)+h -2 —2n+p+q+2z—e]*—

[16(k+ 12 (k+2)(n+1)2+1—- AP —[e*(e+2)(a+ 1)+ 1 -0 — [(a* = 1)y* + 1 — 2%]*—
[16r2y*(a® = 1)+ 1 —u?]* = [((a+ v (v —a))® = 1)(n+4dy)* +1 — (2 + cu)’ P = [n+ 1+ v — y]*—
(@* =D +1-—m?P —[ai +k+1-1—1*=[p+Il{a—n—1)+b2an+2a —n*—2n —2) —m]*-
lg+yla—p—1)+s(2ap +2a — p* - 2p - 2) — a]* — [z + pl(a - p) +(2ap — p* — 1) — pm|*)



